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Standard Equation of a Hyperbola:
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Asymptotes of a Hyperbola:
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Examples:

1. Given the hyperbola % —%‘0 =1, find the vertices, foci, and state the asymptotes.
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2. Given the hyperbola O 64‘.) - i 73) =1, find the vertices, foci, and state the asymptotes.
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3. Sketch the hyperbola whose equation 1s % -
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4. Sketch the hyperbola whose equation is x* —9y? +36y—-72=0
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5. Find the standard form of an equation of the hyperbola with foci at (6,0) and (-6, 0) and vertices at (4, 0) and
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6. Write the standard form of an equation of the hyperbolas with foci (0, 7) and (0.-7) whose length of the
transverse axis 1f lZ_ﬁ =




7. Write the standard form of an equation of the hyperbolas with vertices (1. 2) and (3,2) whose asymptotes are
y=xandv=4-x






